Balancing Chemical Equations

Balance the equations beiow:

N2 + H: = MNH5
KCIO; = KCl + Os
MNaCl + Fa > NaF + Cla

Ha + Oa = H-0

Pb(OH), + HCI = H.0 + PbCl

AlBr; + KaS04 > KBr + Alx(S04)s

CHs + 0, = CO. + H-O

CaHa + Q2 = COz + H20
CaHia+ __ O2>_  CO;+_ HO
FeCls + MaOH = Fe(OH); + MNaCl

P+ Oz > P-0s

Na + H.O = NaOH + H2

AQQD > _J"-"n.g + Og

Sg+ O > S04

CO- + H.O = CagH120s + 0

K + MgBr=>  KBr+_ Mg

HCl+  CaCO:.» ___ CaCh+___ H.0+___ CO;
HNOs+  NaHCO; > NaNO:+_ _ H,0+_ _ CO;,
H:O+ 02> HOs

NaBr + CaF: > MNaF + CabBr:

H-S0s + NaNC; = HMNC- + Na-50,



